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Question Number : 1 Question Id : 5500532881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A person suffering from lodine deficiency may be recommended to take extracts of
this plant preparation
08 93 OO G008 erdthdD) @ & 308 Awg) Ay 65w Saird
BR8 A .
Options:
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Question Number : 2 Question Id : 5500532882 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Fusion between two similar gametes, two dissimilar gametes. and non motile and

motile gametes occurs in these organisms respectively

R0 Rod DaPe), 9 VOrE DaPw BEKN HNGTS DBL SV
D003 Derw DodrEH0 2ENS D B SRS,
Options :
Chlamvdomonas, Volvex, Fuciis
.- SPVE DT Toer( Sy, QYD
Volvox, Spirogyra, Fuciis

&\, NEFoP , )85
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Chlamydomonas, Spirvevra, Volvox

SVEITDS , 2y6 707, Trerssy
3.¢¥

Spirogyra, Chlamydomonas, Volvox

2 8707, sPLErTD, Toer6 S
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Question Number : 3 Question Id : 5500532883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A specific organism [A] showing the lack of cell wall, survive without oxygen.
pleomorphic. The other organism [B] has cell wall embedded with silica and
indestructible. A and B respectively belong to

2% 89 [A] SsS30arSomr, Erossd BB TLOCT E0d VEFFVR
PR, o8¢ £ [B] dnsidisod’ arsdo sdtndod 2d5E Gykorr 6 6.
20 A, B ST ger gotrow.

Options :

Actinomyces. Diatoms

30D, Eairedoy

Mycoplasma. Chrysophytes
2EFI), ST

2.

Cyanobacteria, Dinoflagellates
2oSers8alr, ESTBG



Archaebacteria. Desmids
236) 836085, &)Y

Question Number : 4 Question Id : 5500532884 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List] List II List III
a) Witches Broom I) Trypanosome i) Prokaryote
b) Sleeping Sickness 1) Sheep i1) Fungi
¢) Early blight [1T) Mycoplasma iii) Protozoa
d) Scrapie IV) Alternaria iv) Virus
2DADW
List I List II List ITI
2)3008113 VP ) §0505 HECCERIER
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Options :

. Alli, BIii, CIViv, DIOIii

. AIVi BIllu, Cliui, DIiv
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Question Number : 5 Question Id : 5500532885 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Match the following

List1 List IT
A) One seeded bits of fruits ~ I) Composite
B) Jack fruit IT) Mericarps

)
C) Fleshy thalamus I1T) Caryopsis
D) Fused pericap & seed coat  IV) Apple

BSDEVAN
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B) 9% ) 20655y,
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Options :

, ATy, Bilin, CHIL, DIVi

. Alw, BIIi, CIViii, DII i

3 @ Allw, Blii, CIVi, DI

. ATliv, BIlii. CIITi, DIVii

List ITI

1) Pome

it) Rice
i11) Entire inflorescence
iv) Schizocarpic
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Question Number : 6 Question Id : 5500532886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List A List B
A) Stigma I[) Style
B) Seat of ovules IT) Tip of the style
C) Basal part of Gynocium III) Placenta
D) Elongated tube IV) Ovary
255D EOTI0D

T A T B
A) Serdio I) Seo
B) ®o& es5°®0 II) Swo @ws). edo
C) e90tE' %0 6 270 II) esodarg® aq;ao
D) Jrteadd %o IV) eso$os080
Options:

AIV, BI CIV, DII
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Question Number : 7 Question Id : 5500532887 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Name the cells of mature pollen grain when you observe under microscope with the
following characters respectively.

A) Bigger cell with abundant food reserve and large irregular shaped nucleus.

B) Small, dense cytoplasm with nucleus,

A5, 69019 S8 DTS e SEred (AoIPS & Sod v v SR
TP GO

A) 4. ot e 3@595’ 05080 Sogs) $DAD ) Seao,

B) 0¢)6 Sracsidiod” Bogsgosnd Oy So.

Options :
Generative cell. Gametes

TGS S0 , D Ses0

Vegetative cell, Gametes

T30 €630, DdrTen

Vegetative cell, Generative cell

i Tes ) se30, &@:}cﬁs €620
3.¢¥

Generative cell, Vegatative cell

ewﬁcﬁé €630, 2035 €60
4, ® %

Question Number : 8 Question Id : 5500532888 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Assertion (A) : There 1s no variation in size of mature seeds m orchids.
Reason (R): Lodecia maldivica is the plant with largest seed.

D30 (A) : 68) ¢’ DBDE] DT VBArEa0S” DBrreottsd).
s600 (R) : SdIab 4rddse o ¢ Do DA 2ws).

Options :

‘A" and ‘R’ are true and ‘R’ is the correct explanation to ‘A,
A7 H08ain R a0 28D, 8w R’ 9008 *AT £ 08D DHdes.

‘A’ and ‘R’ are true but ‘R’ is not the correct explanation of *A”.
A’ Bain ‘R’ e 28D, 520 ‘R e9d0dd ‘A’ £ D30 DdHGe 5°¢h .

‘A’ 1s true but ‘R’ 1s false.

- AT RGRE 570 ‘R Sy

"A” 1s false but ‘R’ 1s true.

4 AT S 70 ‘RT28HA.

Question Number : 9 Question Id : 5500532889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List I List II
I) Makoi A) Dracaena aungustifolia
IT) Red dragon B) Smilax zeylanica
IIT)Sarasaparilla C) Cestrum nocturnum
IV) Night queen D) Solanum nigrim
2 DA

Al | o 11
I) 80w A) gdo e0rDHT ot
II) & &t B) ﬁrgée.rﬂ% Ferds®
III) >50f C) DRa TS0
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IV) oo8 o°ed D) Jerde
Options :

- ICHAINID, IVB

IB.IOID.IITA, IVC
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Question Number : 10 Question Id : 5500532890 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The reason for the genetic variation in the population of organisms

S0 2eers 20§ P[0 LD S°GEadD
Options :
Meiosis

S0086e D
1.4

Mitosis

DD

Cytokinesis

seagaﬁ?g DD
3. %

Karyokinesis

S0 D

Question Number : 11 Question Id : 5500532891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The smooth and rough endoplasmic reticulum are involved in the synthesis of
oz Batw (it wodBs Gdjaren & $o8 i ogimd’ F&otwed.
Options :

1.4



Lipids and proteins and secretion

S0 208050 D e Su8ow ddoH

Steroidal hormones and Lipids

FSloffebUT 1:3‘566&5 e A08an OHE ew

Fats and steroidal hormones

£ S8osw Porawd BHELS e

Carbohydrates and proteins

208 DTTeL 000D TBS e

Question Number : 12 Question Id : 5500532892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Name the cell organelle which are involved in the following processes
A. Conversion of stored lipids to carbohydrates
B. Catabolism of long chain fatty acids

& 306 Db &' DAk Srrorre DY BeiHw.
A dox 68y DR B TES e Srde
B. &6 $y0200 et esdre) DDy Sab
Q X
Options :
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Lysosome. Peroxysome

TIJI'D, Do°ST' D0

Dictyosome, Ribosome

&3arY o, GeS'N

Peroxisome. Micro bodies

bm%:fﬁﬁin, Arg) Bt

Glyoxysome. Peroxysome

ﬁ?ﬂg\bﬁﬁ&, hmgbﬂﬁ&l}
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Question Number : 13 Question Id : 5500532893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Assertion (A) : Eukaryotic cells have the ability to adopt a variety of shapes and carry
out directed movement.
Reason  (R): Micro filament, microtubules and intermediate filaments, constitute
the cytoskeleton.

Aydo  (A) : daB0ds Srren DAY egdovdy vdvodediie &hﬁgéal 494
&od ?Jg%‘efs RIS Dd&?}ﬂoﬁdv;ﬁ).

Q960 (R) : Arg)dodopen, Arg) 9o Hubadn SR Sodoen
SErRR0RT) SaiFETa.

Options :



Both A and R are correct and R is the correct explanation of A.

A S8ain R e Sotir 280D 080i0 R 9008 A 288 DdHde

Both A and R are correct but R is not the correct explanation of A.

A S08ain R en Godor 28D 570 R 90 AL 238 Dddes 5ee

A 1s correct but R 1s incorrect

A 9356 52D R 82y

A 1s mncorrect but R 1s correct

A &2y 5°Q R 236
4.

Question Number : 14 Question Id : 5500532894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

This type of cells are not present in phloem of a monocot stem

& 306 o895 DSBYDR sPocto TS Srawrensd’ $HWED Seren
Options :
Phloem parenchyma.

. g Seeere HoyEogereo.
1. v



Sieve tubes.

ES“E_}.E} U,

Companion cells.
RIPSETRD.

3. %
Phloem fibres.

DS Seazre ToGew.
4, %

Question Number : 15 Question Id : 5500532895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a dorsiventral leaf the position of xvlem

2T 66 DG’ T J'do
Options:

Xylem surrounds phloem.

6D Tag Searerd) o eotnod.

Xylem is towards adaxial epidermis.

aloblu)) Eﬁ&;ﬁéi S0 DY) &otod.



Xylem is surrounded by phloem.

DD S S0 T Eotod.

Xylem is towards abaxial epidermis.

TG0 GRS B30 D) Eotwod.
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Question Number : 16 Question Id : 5500532896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The physiological and morphological phenomena that happen, when bulliform cells
absorb water and undergo water stress respectively

aara) deren B TR0 280k A8 HSaerdd & HoNdE Sdr
260 ¢fgaatren
Options :

Flaccid: Leaf surface show no change.
Turgid: Leaf surface bend backward.

360 DG S0 DI WIDA.

- D\ B0: DG SVo DIEL Jor>R.

Plasmolysed: Inward curling of leaf.
Turgid: No change.

Seagsady o8 Tso: DBo SDVPDIHL B TR,
5 .
- Q‘:]@D. SElebN .



Plasmolysed: Inward curling of leaf.
Flaccid: Leaf surface exposed.

Seagsdy DoSh0: DPo S DVDIPL B .
, » 300 DSBLO WPESIOH.

Turgid: Leaf surface exposed.
Flaccid: Inward curling of leaf.

D B0: DBBVO LIPGSDHI.

, o 300 DFo SO Aot T,

Question Number : 17 Question Id : 5500532897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Primary CO; acceptor in Cy4 plants

Cy 20 0" PG COy DEY
Options :
Phospho enol pyruvic acid

T AT PADE e50EW
1.¢ '

Ribulose 1.5 bis phosphate carboxylase

GeneS'E 1.5 DD TN 5°0°n TS
2. %



Oxalo acetic acid

5565 008 e9:0A

Phospho glyceric acid.

FI HOOS e300
4, % '

Question Number : 18 Question Id : 5500532898 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Yeast poison themselves to death, because

0 SETen DRPOBD DB S°EE0

Options :

Above 13% of alcohol is hazardous.

13% S0&3 DS, eser) S HATGSEH0.
1. %

Above 13% of lactic acid 1s hazardous.

13% S083 D505 eSS e300 PATGEEHD.
2. &

Above 13% of pyruvic acid is hazardous.

13% 085 D) & DEDS e3:0 HATGSEAW.
3. % i



Low energy produced cannot support their growth.

EACD) HOAD] 03 B D 3 T ISV DB .
4. % N

Question Number : 19 Question Id : 5500532899 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Water potential is equal to solute potential in the following

308 TrOS’ VBB B, TG FL) B0 B DJTDBW
Options :
A cell soaked 1n 1sotonic solution

DTG Trde0es” &odd S0

A cell soaked in hypertonic solution

0SS TPES (o Troe0es’ Godd Eeao

A cell soaked in hypotonic solution

WO\ TPEBSL TrdeeodS” &odd Sevo

A cell with incipient plamolysis

FrBozsgeagd| o8 st WPk Feasdw
4. %



Question Number : 20 Question Id : 5500532900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Pseudomonas and Thiobacillus carry out the following

RUPE QPO 08030 Galrerded o $08 AN QBT oo,
Options :
Putrification

QJPF'QD?’.JESMEJ

Ammonification

Eﬂ&J"é@i)éﬁé

Nitrification

ISIAREFIS

Denitrification

DdHEGe

Question Number : 21 Question Id : 5500532901 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Haem group associated with the enzyme catalase is an example of

JoZD 30T% & od &d) o danmrabiw B3 eaErden



Options :
Apoenzyme

005 JoBaw

Prosthetic group

@Eﬁgeﬁé DSVTEADAL

Co-enzyme

R0 Do

Co-factor

e SPEESaAa0

Question Number : 22 Question Id : 5500532902 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The compounds produced when RuBP reacts with O, are
RUBP. 0) & 562850360, D63E 03w DET
Options :

3 - phosphoglyceric acid.

3 - D\BRB8S esdo.

1. %



G-3-P and DHAP
G-3-P &08ac3n DHAP

Phosphoglvcerate and Phosphoglycolate

FANHR0S Sobatn FINGSSES

3.¢

Phosphoglycolate and Glyceraldehyde — 3.P

FI\GESES 208080 Auod & - 3.P
4, ® e

Question Number : 23 Question Id : 5500532903 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

With reference to stomatal movement, choose the correct statements
a. Proton efflux increases p® of guard cells.

b. Efflux of K and Cl- decreases water potential of guard cells.

¢. In the absence of light, K and C1- efflux from guard cells.

d. Presence of ABA in guard cells causes efflux of K.

Pt

00¢ BVRBNRL Dowodor), FBALA TV W) S B,

2. Jerdow aai:wfi}g;ﬁea, 858 s’ p & Do,

b K" svdaty CI- mb@bm, 638 serod’ A8 $¢) 20k Shocha,

c. 5708 G\t 658 SR Ao K dodoty C1-ew w880 St

0. 658 o’ ABA €3, KT exr 56 seomiw.

Options :

, » abced



5 acd
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Question Number : 24 Question Id : 5500532904 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct sequence of steps 1n the formation of oot nodules in legumes
a. Formation of infection thread

b. Cutling of root hair

¢. Stimulation of cell division in cortex and pericycle

d. Release of sugars and aminoacids by legume roots

e. Release of bacteria into cortical cells

T 0" S 65°3 OB 16H B PBALH S focsviw
2. dogdoe Dcﬁbdéao

b. dwwddo D086 Sdrko

C. 50,00 2608 DBgANLY Sndzud wiaotacio

d. GrirgDo DY dood w0 eren wBa 38,8 e

. D00 470 &3 ergBaken e

Options :

e.d.a. b.c
®

5 % c.d.a.b.e



b.d.a.c.e

4 d.b,a.e, c

Question Number : 25 Question Id : 5500532905 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): Vernalization 1s seen in Biennials
Reason (R): Cold treatment stimulate photo periodic flowering response in cabbage.

A8 (A) : A0S A a0 D) TEAS SrHTow
FoRd  (R): SHLD 30 DSGD &0 3 9D 508 ) Tobd
SRZODT sPVRL &S BR008.
Options :
Both A and R are correct. R is the correct explanation of A.

A S080in R Sodtr 2800, Bt R 0o A $ 28608 Dddes.
1.4

Both A and R are correct, but R is not the correct explanation of A.

A 0803w R, Botir 280, 5°A R 220G A £ 28a0R Dddm ¢
2. %

A 1s correct but R 1s incorrect,

A 9356 52 R &),
3. %



A 1s mcorrect but R 1s correct.

A 8y 5760 57 R 2008.
4. %

Question Number : 26 Question Id : 5500532906 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List I ListII List I1I
I) Robert Constanza A) Mangroves 1) Other supporting service
IT) Sundarbans B) Public transit 1) Nature’s life support services
I11) Lichenes C) Price tags {i1) Conserve natural services

IV) Ecological function D) Soil formation  1v) Flood protection

$08 T 2 DAL
A | AL || oo 11
) oof &2 Fowr A) drofS e i) 936 BErdd ddw
IT) f0cs6 39y B) pardarer S 1) TrTPSE 20808 B esgrdd Dden
I1I) &30 C) Denad séwe 111) PRS00 Dobsn

IV) 5561 Roeos cioew D) &0,88 Aoycod V) e oow) 65

Options :

- I A iv II D ii I C 1 IV B i
- I B i II' C it IIT A 1v IV B iii
3% 1A 1i II B i I D iv IV C 1

s 1C1 IT A iv III D i IV B iii



Question Number : 27 Question Id : 5500532907 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of absorbed €O, and water molecules to produce 180 g of glucose n
plants are

180 g Tradowe (P8 & 6 Babrmd3 20080 iroidy 6,8 Fesd\E b
D ey o2
Options :

264 gand 108 ¢
264 e Sodasw 108

264 gand 193 g

264 > Sodasw 193

271 gand 108 g
271 o Sododw 108 e

193 gand 108 ¢
So8ain 108 @

d
=

Question Number : 28 Question Id : 5500532908 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Father of Bacteriology and link to infectious diseases

w%@o‘.ﬁ:ﬂu& DTRVITVE BN 080 THEIVD LG ED) Vo
Options :
Ehrenberg and Bacteriology

DT By 6 BB wéﬁo&rﬂaﬂ

1. %

Leeuwenhoek and virology

DATDD 76 b Poros
2. %

Louis Pasteur and germ theory of diseases

PO 5“%&5 S08as0 Arg) 2dHAS TR i}tg“ce‘_’ao
3.¢

Butler and germ theory of diseases

2086 003w g RO Tr{ov fogﬂcéo
4, %

Question Number : 29 Question Id : 5500532909 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Amphitrichous bacteria contains flagella like this
&5@:}@0@5{@03@55& ) w%&oﬁ: dareren S08 Jdorr £08 Gotnod.
Options :

1. %



Two flagella at each end.

DD 5D ct)ﬂg Bocy ST SOH cotiod.

Many flagella at each end.

DA ED DS Ay D SFerud SO eotwod.

Single flagella at each end.

DB ED DG 28 7350 208 cotod.

Three flagella at three sides.

S0P PRIDL HRED ST SHA cotod.

Question Number : 30 Question Id : 5500532910 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Name the Mendel's factors and pair of contrasting traits

200685 o657 803w 2 amg DEFOL 020800D DoZTVR Qe
DT
Options :

Alleles and Genes

o:’md&ﬁ)éwbm S08a30 2RO

1. %



Genes and Alleles

CASEIER)LRL o803 cdwﬁ&&)éw;}m
\.;/

Genotype and Phenotype

2RA0JE°00 DOBN GyF(drD0
3. %

Genes and Genotype

ae"'{u?SQ)e.u Peblolobbh) am?gdsva’;o
4. %

Question Number : 31 Question Id : 5500532911 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Heterozygous tall plants were crossed with dwarf plants, then the percentage of dwarf
plants produced in the next progeny

Dotz e SoBaby 'Y Awg) o B[ Vosdo a0AS ST o8
26\E T g 70
Options:

25
1. %



Question Number : 32 Question Id : 5500532912 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Lac Operon concept is introduced by these bio chemist and geneticist
&5 DT FOd VDB DD & D GFADD BoBaky Bd| TS
Options :
Mendel & Butler
2004 HodaiL Wed

Monad & Jacob

200TE S08030 S

Jacob & Monad

PS8 S8k dwaré

Jacob & Sutton

2758 Sudasw i::gf.a

Question Number : 33 Question Id : 5500532913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The correct combinations among the following

Scientist Event
I  Miescher -- Named nuclein
IT Fisher -- Isolated nucleic acids
III Altman -- Discovered purines
IV Franklin -- DNA X-ray diffraction

S0& 78S DBADD wSen

TS LH0F Dy Ddaodo
oy e .
[ 080 - 0750 26 DER0.
I 230 - So85°arer D8 DT

[T es6 o0 -- E}j”gﬁb VR ST €.
IV 7032 -- DNA X 366 D585.
Options :

[ &1
®

, % N&IV

1 & IV

o I&IV

Question Number : 34 Question Id : 5500532914 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



It is not involved in recombinant DNA production.

2000 Tes DNA et edy88° 8 pdoabo eocich.
Options :

restriction endonuclease.
BRED Dol RS,

DNA ligase.
DNA &7,

DNA fragments.

DNA $&eren / ms;Te_u.

E. coli.
» &

Question Number : 35 Question Id : 5500532915 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Name and arrange the following in the order of technique and steps for separation
and isolation of DNA fragments

I. DNA fragments moved towards anode under electric field.
I1. Exposure to UV radiation.

III. DNA fragments stained with EBr.

IV. Gel electrophoresis.

V. Elution.

DNA 0d@rei 36 060, DL Sakw Fe3AES Ti00 B0k E3vk
4008 iy,

L Dehoferards 98 329t DNA aormen 8dE PR 8T dFow.

IL UV dd6ers 18 Sofoby.

II. DNA 2oty EBr & eddozdo Sakob.

IV. 86 Q8 303,

V. Qw}g‘:’qéj

Options :

| % VIOIOITIIV

IV VIII I
2. ®

NMIMIIIvIv
3, #

IVIHLIV
4.

Question Number : 36 Question Id : 5500532916 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

In EcoRI. R and I denote

EcoRI ¢5° R 208a50 I 20008
Options :
Remove nucleotides and cut with in DNA.

DNA & 8360300 8ol Aridaris e Sofotie.

Name of strain and order of enzyme isolated from the strain of bacteria.

85 AP0 HBabn ergbalyr 8o dwod D BALHED JoBDY © JER o,
2. ¢

Restriction endonuclease and number of strain.

BRED Jo& Ao SaHE e BBk dSo Voady.

Name of the scientist and number of bacteria.

TRDS D OAED erFBOL oa).

Question Number : 37 Question Id : 5500532917 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct statements.

A. Asexual reproduction preserves genetic information.

B. Hybridization lead to multiply desirable genes.

C. Restriction enzyme adds methyl group to DNA.

D. Genetic engineering changes the phenotype of the organism.

ROALD T MBood.
A. 05003 DBOIONS eaéazsﬁaﬁfwbl ealarele S blela)
B. 2086t 2GS 008 20§00 ;8 SFow.
C. 625D Jogd DNA £ MFS 22rtdy 2806008,
D. 280§ Q020808 £ &y3{Ern0s’ Ardry B0d.
Options :

Aand D

A 8o D
1.

Band C
B 0880 C

Cand D

C &08asn D
3. %

A and C

A SHobadin C
4. %

Question Number : 38 Question Id : 5500532918 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Cryopreservation 1s done at a temperature of

SRR & 08 eid HG 2eHSE

Options:
% —l40°C
, w120
—196 °C
3.
—273 "€
4, %

Question Number : 39 Question Id : 5500532919 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following
List—1I

L Aspergilius niger

IL. Clostridium butylicum

IMI. Lipase

IV. Saccharomyces

2¢9 DLW
D — 1

L 02000 26

List 11
A. Detergent formulation
B. Ethonol
C. Butyric acid
D. Citric acid

dae 11

A. Deyo S0Ir0 drgo

1. gﬂ%gciobé: NIGAUERY B. @¢aees
III. & C. engadsedvo
IV. 728 2009 D. 2800
Options :
- IB D 1A IVE

ID OC HA IVB
2. %

IA IIC IIIB IVD
3. %

ID TA WMc¢ IVEB
4. %

Question Number : 40 Question Id : 5500532920 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Super weeds are fast growing than crops and resistant to weedicides.
Reason (R): There is transfer of new genes into related wild species through natural
out crossing.

A3ydo (A): Doy WG o &) S(BI0m DHHAP SRy THTOD DB s
DD 276 D6y

o (R): Roe0dd 53 s0f DIrRRD BT 0808 (TP §8 adufHen
269 26Hv.

Options :

Both A and R are correct and R 1s the correct explanation of A.

- A 208050 R a0 Godr 282, Q8030 R 9d00& AL 280 Dddes.

Both A and R are correct but R is not the correct explanation of A.

- A 08080 R 20 Gotir 288, 5°Q R 9d008 AL 28R Dddes 5.

A 1s correct but R 1s 1ncorrect.

. A DTHE 57 R &S,

A 1s mcorrect but R 1s correct.

L o A 8Dy 5D R 2536,

Zoology
Section Id : 55005362
Section Number : 2

Mandatory or Optional : Mandatory



Number of Questions : 40

Section Marks : 40
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 41 Question Id : 5500532921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Punishable offence under Wildlife Act of 1972 is

308 o8 aaégﬂes <580, 1972 devocsdery e 3godehe Sto
Options :

Reduction in rate of loss of biodiversity

QCIrEHOVE SeaseS” St

Protection of wild life in natural habitats

DI ey HIjrdIR VoBLE

Publishing Red Data Book
B& Ger Do DOGE0

Trading wild life products

;5355@“93 e oo Fa Dgatren



Question Number : 42 Question Id : 5500532922 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Embryos of protostomes are called

e’ © Dozrewn
Options :
Regulative embryos

6{'&359?5&35 Fole sl SO

Positive embryos

2D Dorrew

Mosaic embryos

QA0S Dorew

Radial embryos

aﬂg‘%ﬂd Hosren
[3 &

Question Number : 43 Question Id : 5500532923 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Adult gastropods are asymmetrical though there are included in
phylum Mollusca.
Reason (R): Symmetry of organism is determined in eatly developmental stages
but not in aduls.

Do (A): Fet mg“ﬁ&m £ien Do) SIS ao&éa‘abéfﬁ% OTDI0T
eo&m.;J
60 (R): 200 Fdo ddyB ¢t wdor agmg}m =R PEED
2l 5.
Options:
Both A and R are correct and R is the correct explanation of A.

A 08030 R a0 Sotir 28D, 08030 R 93008 AL 28D DHTes.
1. %

Both A and R are correct but R is not the correct explanation of A.

A 08030 R e Gods D8, 5°Q R 00808 AL 28R D568 5060,
2.

A 1s correct but R 1s incorrect.

A 2336 520 R 82y,
3.¥

A 1s incorrect but R is correct.

A 83y 59 R 2538
4. ®

Question Number : 44 Question Id : 5500532924 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Dense irregular connective tissue occurs in

FoB0%) E06I DOMBIBE S62r V0 E0CD aHED
Options :
Umbilical cord

aeE) t‘.iagQ)

Deeper region of dermis of skin

€56),085” e90e5% 5] 085" & BD Jrohso
2. ¢

Vocal cords

ﬁsé@ogaw

Epiglottis

e&aﬁ35

Question Number : 45 Question Id : 5500532925 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Assertion (A) : Cardiac muscle is highly resistant to fatigue.

Reason (R) : Cardiac muscles are innervated by the somatic nervous system
D3ydo (A) : yEa% gotido RS &8 T,

5600 (R) : im0 SodToddy Bars d ;55.;5"%3 gmwééa‘@oo&:.

Options :

1.



Both A and R are correct and R is the correct explanation of A.

A 506050 R e Gotlr 280D, 0805w R 90060 AL 28 DHde.

#®

Both A and R are correct but R 1s not the correct explanation of A.

A 08080 R e Bokor 280, 57 R 9038 AL D8R Dd8es S°e.
2. %

A 1s correct but R 1s incorrect.

A 9336 52 R &3,
3. ¥

A 1s incorrect but R 1s correct.

A 82y 52 R 2328
4. %

Question Number : 46 Question Id : 5500532926 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose among the following the characters of ophiuroidea of phylum Echinodermata

308 & aBIEG,Er SIS 308 DAITONAALR S0 VLT

Qe leIAVINIY

Options :
Madriporite 1s aboral, tube feet with suckers, Open Ambulacral grooves
202WPSVE” GogHvLo, BTN TITT T, BEDD) WorTgS

1 % TRV



Closed Ambulacral grooves, tube feet without suckers, Absence of anus

QrR0%R) W0enGES TR, BPIFLY O TSI, o) 88 J'ako

2. &

Arms absent, Anus 1s aboral, Closed Ambulacral grooves

FHare €otd), DBBWP S0oS’ AN MWD BorTES MW

3. %

Open Ambulacral grooves, tube feet with suckers

4. %

BEEODD) 0SS TPEeD, BFR T TISI T

Question Number : 47 Question Id : 5500532927 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the incorrect combination among the following,

1) Xiphosura
2) Arachnida
3) Crustacea
4) Diplopoda

Character
Poisonous Claws
Coxal Glands
Biramous appendage
Gnathochilarum

308 TS 2THB I Doy ¥ tHBotd.

i elyly)

O E£00

DY) daren
8415 focoen
&gTad aarorio
A8Eg6a00

Example
Limulus

Scutigera
Sarcoptes
Spirostreptus



Options :

1.% 2. 3. 4
> % l, 3. 4
3%l 2,4
401 2.3

Question Number : 48 Question Id : 5500532928 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the larval stages in the development of liver fluke

D6 S DorrDHBS” $Jyod CoziseBud Dotdod.

Options :

Veliger. Trochophore, Sporocyst, Planula

- 2826, ¢5°S 6, @56‘5?\:%. Frdoer

Sporocyst, Planula. Trochophore, Redia

L w B, Fdoer, B, oty

Miracidium. Sporocyst, Redia, Cercaria

DorHd oo, ffﬁiﬁa, bc.asr. %8), 808
3.v =



Planula, Sporocyst, Muller, Trochophore
Faoer, P\BDY, 208, SEYS

Question Number : 49 Question Id : 5500532929 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The closest invertebrate relatives of chordates belong to the phylum

& 303 Bodd BSH0S EPU STED D) I HEPHRLT DB Hiiky

Options :
Mollusca

:JJE_J%“G

Echinodermata

RBIEB) e

Coelenterata

25208887

Arthropoda
3BV
@

Question Number : 50 Question Id : 5500532930 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion (A): It is necessary to know the life history of an ascidian to consider it a
chordate.

Reason (R): Ascidians exhibit retrogressive metamorphosis in which larval stages
are 1n a degenerated condition.

D2yd0 (4) : Indatr £ shkr £ DBrescmA3 T £DS PG
wcjodoro Soird.
56690 (R) : JNGOL Bedyen S63008 Aoass ¥ $96% BB 6rd
Dok 166 Fax.
Options :
Both A and R are true and R is the correct explanation of A.

- A 8030 R Bodr 280D, 803w R e9:008 A € 288 ddes.

Both A and R are true but R is not the correct explanation of A.

|, A H0Boho R Boctr 280D, 520 R 9038 A £ 28 Jddes .

A is true but R is false.

, o ARBRE 52 R 2838 so¢.

A 1s false but R 15 true.
4w A DTIE 5260 O R 2JRA.



Question Number : 51 Question Id : 5500532931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the incorrect pair regarding Vertebrae

A. Birds — Amphicoelus

B. Fishes — Procoelus

C. Urodela — Procoelus

D. Caecillians — Amphicoelus

& 308 T°0° $FDSOLD 020D DTIE 2D s
A DEoeD — &30

B. 3Dew — 86d

C. B der — HBH0

D. 229 — ez

Options :

| BC

Question Number : 52 Question Id : 5500532932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the Protozoan with anematic flagellum

ADATRS ST AN $HAD TS Lépown Hdotod.
Options :

Chilomonas & Cryptomonas
. sSaraR & SRR

Euglena & Astasia

cifae & es0se

Peranema & Monas

HoeDAF & ArTH
3. %

Chlamidononas & Politoma

TOEITTO & FOE B

Question Number : 53 Question Id : 5500532933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Protozoan in which cilia are confined only to juvenile stages are

33003¢° Hrdd 3o $9A exdy Jwor £
Options :

1. %



Paramecium

o000

Vorticella

Peloleldp
2. %  ©

Acineta

DRODET
3.

Euglena

 odorHe
4. % i

Question Number : 54 Question Id : 5500532934 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Wriggling movements of sporozoites are caused by

F\Faront & $Dotordd 5°Etgnd Do) rwen
Options :
Microtubules

miéa“? e
1. %



Convoluted tubules

DODPEd TIPS

Pseudopodia

bgqsﬂ?géﬂmﬂw
3_ w

Flagella

ST
4. %

Question Number : 55 Question Id : 5500532935 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following :

Column II
M. Opium poppy

Column I
A, Opioids

B. Cannabinoids  N. Cannabis sativa

C. Cocaine 0. South American Plant
D. Heroin P. Diacetyl morphine
& 308 T 2AGDESE.
Column I Column II
A Godiréy M. 450800 )
B.s5dTonéy N S5°09 285
C. 539 0. B&em b5 A8
D. 3Trone P. GBS &ry®
Options :
A-M-1I B-N-1II
1.¢
5 % A-P-1IV B=0Q=III
A-N-II B-0-1II
3. S
A-0-1I B-P-1IV
4, %

Question Number : 56 Question Id : 5500532936 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Column III
I. Receptors are present in
CNS and GI tract.
II. Abused by sports persons
II1. Crack
IV. Smack

Column III
L rarsen Sogrd e
e%gm:fu S yotran.

II. Sersedoen BoBAcPro
B3P,

III. 5°5.

IV. 5.
C-0-1II D-P-1IV
C-N-1II D-M-I
C-P-IV D-M-I
C-M-1 D-N-1II



Time: 0

The drugs that cause sleeplessness
& 308 T°8S° AEirsed dorehen
Options :

.« LSD

Barbiturates

EJ“@&&D&%D

Amphetamines

E’.-ED?QEJQJ&S
3.9

Benzodiazepines

Bod' Easraddy
4. %

Question Number : 57 Question Id : 5500532937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct statements in relation to Wucheraria

€883 £ oe0oD) & $08 TS DBD Ty
Options:
Pineal spicules are unequal and chitinous.

BOS & DDA, WRJTHRD VDY), ST PoLTow.
1.4



Pineal spicules are equal in size and chitinous.

POS & BoDAD, DBFHDD VDY), LT PHOLTOD.
2. ®

Sausage shaped larva 1s formed in labrum of mosquito

F0E IS°ER) GoFSo S0 et :)dbmm.

Mamillated eggs are found in the life cycle.

SrDTLE G EDS 58¢9e5” DI ow.

Question Number : 58 Question Id : 5500532938 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct statements

I.  Population is a group of organisms belonging to a species living in a particular
area.

II. Populations of different species in a given habitat, interacting with one another

constitute a community.
III. Population is a group of organisms belonging to different species
B FPf{URL dows Bafwdw
L 288 203085 DBV w8 PGS BoBD PV DAV BT,

L 23 63 08’ ASV0E DENG S{EuRD DG arduvd) S8 S
RAIPIPR TR,

III. 257 W™ JIG IR Bob BB VTP AW,



Options :
[ & IIT only

[ & II1 Soehdd

[ & II only

[ & I &S0
2. %

IT & IIT only
IT & TIT shoeehado

4« LI&III

Question Number : 59 Question Id : 5500532939 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

K

4 . dN .
In logistic growth equation . 1\{ }»’here I" represents

B8 5B D60 3—1; = IN{K;KN}SB T 3 2o,

Options :
Population density

, BT Jrogeh



Intrinsic rate of natural increase

DITRD)B Q0LINE Gew

Carrying capacity

OIID %3
3.

Age distribution

SA3T° T°(=
4. %

Question Number : 60 Question Id : 5500532940 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Find out the correct match

Set—1 Set — 11
A. Tidal volume 1. 3000 — 3500 ml
B. Inspiratory Reserve Volume 1. 1000 - 1100 ml
C. Expiratory Reserve Volume iit. 500 ml
D. Inspiratory Capacity iv. 2500 — 3500 ml

8GO 28R HBOLIA

Set —1 Set — 11
A. 8¢S Trurie i. 3000 —3500 ml
B. f%ast*%:} Qe DDDBATE0 1. 1000 — 1100 ml
. K}?S’fo Q0D HDBSTE0 1. 500 ml
D. 623 % Fa0gco iv. 2500 — 3500 ml

Options :



A-i.B-1.C—-1v.D -1
A—-i,B-11i,C—-1,.D—1iv
A-ii.B-1wv.C—-1,D-1ii

A—qi B—1v,C=11;D-1

Question Number : 61 Question Id : 5500532941 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct sequence of the air passage in man.

AFHHDS’ ?Sﬁmm;gju D08 S0 (Bodiudw.

Options:

External Nares —Nasal chamber — Trachea — pharynx — bronchi — bronchioles
— Alveoli

P[RS S0 > S 88— o0 Yo S TR T -

TR TS0 Tos0E 3 Araen

External Nares — Nasal chamber — pharynx — larynx — bronchi — Trachea —
bronchioles — Alveoli

EPEPTRS S - 5 €8 - (R - 3D o TR Tvew -

T TP > TR T o8 % Brew



External Nares —Nasal chamber — pharynx — larynx — Trachea — bronchi —
bronchioles — Alveoli

EPEP{TST S0y — TS 8 - (A0 - 3V - T T¥o - TR

e - TR T Toind % Aren

\.}-'2
External Nares — Nasal chamber — pharynx — larynx — Trachea — bronchioles
—bronchi — Alveoli
EPIP(TS G0 - TIE €5 (fON) - 3D - Ty TYo - TR
4w T O TR T Taind’ Braen

Question Number : 62 Question Id : 5500532942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct statement
S08 TrES” DBADD TejA HorirAw.

Options :

The ascending limb of Henle’s loop is impermeable to water.

- 9 35[0 Bws), BBrn TP DO wFCriB[SH S8 Hotwod.

The ascending limb of Henle's loop 1s permeable to water.

L %[0 Chg), BB TS RIRE FEi2[BR0 $DA Dotod.

The descending limb of Henle’s loop 1s permeable to electrolytes.

L x D 380 g wdBire 98 DS DFaE D F6 oo A otwod.

4. %



The descending limb of Henle’s loop is impermeable to water.
> 380 aog). eSBirey TP DS TGS $DR Potod.

Question Number : 63 Question Id : 5500532943 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The substances eliminated through sweat
(G0 TP DDGBDOA| DT
) X &
Options :
Sterols. Waxes

f‘gcﬂ&'ﬁ;}, D‘”gr:] e

Cholesterol. Steroid hormones

ST, VT o0& ﬁ&ﬁg}é e

Hydrocarbons. drugs

SESONR, Sooten

Small amount Urea. lactic acid

%"cg.%“éﬁ asar8oir, er3s esso

Question Number : 64 Question Id : 5500532944 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a person gets ataxia with an accident. the damaged part of the brain is

28 518 AT HY WEPS 0Er DA DPB, LG’ BB erridw
Options:

Pons Varolii

Cerebellum

- AV

Cerebrum
B0, 0

Medulla oblongata
Q0P DO

Question Number : 65 Question Id : 5500532945 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct matches

Column - I Column — II
A. Vagus nerve i. Palate, salivary glands
B. Optic nerve i1. Muscle of the tongue
C. Hypoglossal i11. Lungs, heart, oesophagus
D. Facial nerve iv. Retina of the eye

280HD S MBotod

D83 -1 He3g — 11
& £
A. T8 Té 1. @0fd), ereraohodioen
B. & 7c. ii. Trens SokTren
C. 2ired T iii. &08AB0, I0&, 388 TS
D. &5y ¢ iv. 4083e3°9) Bede
Options :

. A-iv,B—-11,C—i,D-1il

, x A-ILB-1,C-1v.D—1

A-1,B-11,C—-1v,D-1

, o A—iii, B—iv,C—ii. D i

Question Number : 66 Question Id : 5500532946 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The enzyme present in sweat, saliva and tears is

2(E0, rerae0 28akn $) ¥ & aold JoFZ
Options :

Lysozyme
SIS

1.+

Granzyvme
Eg&

Trypsin
TSNS

Integrase
20805

Question Number : 67 Question Id : 5500532947 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the correct statement

Socs RdAERD e’ D8O oA tHosod.
Options :

Cortisol 1s a mineralo-corticoid
578" 0aDHG ws WS’ e BsPowE

1. %



Adrenaline and nor- adrenaline are commonly called catecholamines

. @G S08atw 6 9GNS L DooIVLeTT THEVN L Wotrdd

Zona reticularis of adrenal gland produces epinephrine

. GRS God &' BALP(ES’F S0t DAL B LIRS

Insulin is an enzyme that regulates mineral metabolism
QRO LD BDSODHV AoWOGOD 28 DoFa

4. %

Question Number : 68 Question Id : 5500532948 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Hormone that is not involved in sugar metabolism is

=86 Ed3ahees” 5«»3@".@:} 6L
Options :

Glucagon

S

1. %

Cortisol
. S“‘g%"?j

Insulin

3 % ’3@335



Aldosterone

e3¢5 or D
4av &O

Question Number : 69 Question Id : 5500532949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Deficiency of ADH (Anti diuretic hormone) or Vasopressin results in

afroh Eohrods 78] S (ADH) Sor Iy d wendrdo dod 06 SORNS
Options :

Diuresis

e BE b DG,
1.4 } o

Decreased volume of urine.

DOy 0PG DG,
8 - 25

Reabsorption of excess electrolytes

- 29 Dvggéﬁ & '&g_')éz%ﬁaea

Decreased blood calcinm
, 888208 52dato ébese

Question Number : 70 Question Id : 5500532950 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statement

208 o8BS DBD Te(ady

Options :

[UDs are generally inserted by the user herself.

. [UDs &3 o6 e0@BrfodSa ol adoesty a0 92060\ § a0y,

[UDs promotes phagocytosis of sperms by WBC.,

, , [UDs 90D BVIE SETrod B0 ST BE0DBIOW.

Gametogenesis is suppressed by IUDs.

- D280 203500 998 IUDs (o RERC) D O0LICIE0E.

[UDs are not suitable contraceptives for females

, » 1UDs 29RDD YL BROPD (6T G 5.

Question Number : 71 Question Id : 5500532951 Display Question Number : Yes Is Question
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Arrange in sequence the following in mammary gland
a. Mammary tubule

b. Mammary Ampulla

c. Alveoli

d. Mammary duct

e. Lactiferous duct

£80606¢° £EDTT ZB0B0 9BIEND.
a. 8.8 TPEeD

b. £8 S03¢

c. £8 S7en

d. £8 TP

e. 88 Toird

Options :

c.b.a. e . d

, @ G & d.b. e

c.a.e.d. b

4% G b.d.a.e
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Artificial insemination means

S8 B0 VDNE0 AT
Options :
Introduction of sperms of healthy donor directly into ovary.
Bt Soddoand T dood Bgsrudy 8ol S ﬁgef)ag’ $0 '3 D%

2e)80.
1.8 °

Artificial introduction of sperms of a healthy donor into uterus

CRTY :;%589555 a&*ﬁ5aoammxg @0 )06, SB0R WSO (107 30%00 S

D% o,
2. ®

Transfer of sperms to a test tube containing ova

@octtod D) DOE TV &' I3 BugsETO VDB D).
3. ®

Healthy donor sperms are directly injected into ovum.
8o &) e dooc 28800 BgErRy S workst Gujed’s @oBs

B,
4. %
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Cooley’s Anaemia is controlled by single gene present on

£r9D AAWOIPRL DosoGotsd 2 ot §ard .



Options :

Chromosome — 1

- gars o — 1
Chromosome — 16
gars s — 16

2. %

Chromosome — 9
EarE -9

3. %

Chromosome — 11
gars o — 11
4.
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Choose the incorrect statements regarding Haemophilia

A. Haemophilia B i1s X — linked recessive disorder

B. Haemophilia C is autosomal dominant disorder

C. Haemophilia B is caused by deficiency of clotting factor IX
D. Haemophilia A is caused by deficiency of clotting factor XII

AT 2020808 DBIE 520 VIFEHR Jows Boswdw
A r3rodosr B ws X — direr) eoddd oo

B. ardradoir C w8 3irs §ars’a 228 20§80

C. r2ardasr B 2,068 2650 IX &0 5o Senrddd

D. sraradair A ),06% 57650 XII &°20 Hp Seurbiy

Options :

 x AC

2.v B.D

3 % B, C
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: th
Trisomy of 18 chromosome causes

18 & §ar# b0 8I° HeDd Seurd 9DVS



Options :

Turner’s syndrome

&35y 6 Do

Down syndrome

SR P E DD

Klinefelter's syndrome

23

3DDVE Do& e

Edwards syndrome

DS 208 S
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The genotype that causes fair skin complexion in human is

DB’ B6,2 Goth SR & cotterds SRV bRl
Options :

, » AABBCC

AaBbCc

2. % °



3 v aabbcc

aaBBcc
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The evolutionary force that reduces the genetic variation by removing low frequency
allels

ejéo'&b 3“&)5:;_)&150 $0A% oind&f)éefbom Sofor) 2R QDC_J“?SQJKD eﬁﬁoé &
Dereo
Options :

Adaptive radiation

&Do30S DSde0

Gene tflow

a.a-a‘ng 6w e e

Genetic Drift

230§ c‘i}g“?;:ré

Reproductive isolation

DB DS
4. %
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The human fossils discovered in java in 1891 with cranial capacity 900 cc is

A28 900 cc © gare) 5“;5.3%50 sga, 1891 &° apar &5° B63% drdd deraren
Options :
Homo habilis

FAT 55DOD

Homo erectus

FAT DBED
2. =

Homo neanderthalensis

A Dosrocs SRS

Ramapithecus

TeAT IS D
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Cells derived from any of the three germ layers are

B0y D YO 0D D& STl Sezmen & B5°S SoHID
Options :
Totipotent stem cells

ﬁd&%ﬂm% SPod gearen

Pluripotent stem cells

TG, SP0t Srare
2. =)

Multipotent stem cells

LITTPOY PG, Stod geen

Unipotent stem cells

T &am% S0l SEFen
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When a male donkey is crossed with a female horse, the resultant animal is
28 200 TPASR 28 e3¢t oS R0306),0 BHDIT 2Q),08 &)

Options :

1. %



Marino rams

2783 TE\J-Q
Hinny
o
- Jbi
Mule
MSGS
3. ¢ :
Hisardale
6 &5
4, %
Physics
SectionId: 55005363
Section Number: 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Yes
Clear Response:
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 81 Question Id : 5500532961 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If a physical quantity ‘Q’ 1s defined in terms of moment of inertia ‘T', force ‘F",

velocity “V°, work “W” and length ‘L’ as

0 [FV’
wr

.then ‘Q’ 1

28 TS TP QR wcd gravso T, wwo 'F a0 V. 00 W’ ubodn e
T od Q:Hl, ™ AR, ‘Q 8dd

we oo
Options :

SIress

e300

modulus of elasticity

23 FHE oo
& @

specific heat capacity

mg"’@ évmgéo

surface tension

@Uf‘jrﬁé‘-’j
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A particle starts moving from rest under a constant acceleration, and covers a
distance ‘X" in ‘t” seconds. The distance covered in next ‘" seconds is

830 23 Boodt 6 S(6ea0s $DD) w8 S0 T dSLS” X irdo
DoirEonod. dthard ‘I dEMws” wd Halrted Grdo.
Options:

X
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A juggler throws balls vertically into air such that, he throws the next ball when the
previous one 1s at its highest pomt. If he throws 3 balls each second then the
maximum height reached by each ball is

(Acceleration due to gravity = 10 1115'2)

8 TPECTE QYT 2030 DGS9, A 808 (182 IS
D) STS 208 DDBT B HS PSR 3 w00 VBB, HS 80d
B3 (A0 I

(o SiBeso =10 1115'2)

Options:
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If a stone is projected at certain angle ‘0" with the horizontal such that its horizontal
range 15 equal to its maximum height, then angle of projection ‘0" is

28 TR £ DAraddod ‘0’ Srod HEn0 BRGYE T E8a VAT0SH
T, (16 A0 2APAB, D& S0 6 Dewsd
Options :

tan”~" (2)
.

tan~'(3)



tan~ (4)

tan”" (1)
4. %
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When a spring of force constant 200 Ni' is compressed by a force of 10 N then the

compression in the spring is

2% 200 10N &6 200 Nm™ 2 2% fio D)of & dedA, & Roh &
20030
Options :

1 % >m

5 cm
0.5m

0.5 cm
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An object of mass 50 kg 1s in a lift moving up with an acceleration of 5 ms™. Then
the apparent weight of the object and its direction is
(Acceleration due to gravity = 10 ms?)

& deao § ms” & dewdyr ps J'd0%) 28 9D &' 50 kg g3 o S o,
o) 000, dy¥y &6 dudatn o) &%
(rocoes o = 10ms”)
Options :
750 N upwards

750 N p3

250 N downwards

250 N $063

250 N upwards
250 N 23

750 N downwards

750 N 2064
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. - . 1, - 1 : .
The speed of a body of mass 10 kg changes from 20 ms™ to 30 ms™. The increase in
the kinetic energy of the body i

637073 10 kg o 8 S50 9¢ 20 ms™ &oodt 30 ms™ 0 Ar6oA. 20
H3e$38" DS

Options :

12507

1. %
L 45007
L 250017

. 3000 J
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The energy consumed by a 1000 W electric bulb when it is used for 1 hour 1s

28 1000 W Dr:i)?g@ 8ROy 0 1 oty €DBrAoRD, IAATHotsedd $S

Options :

3.6x10°W

1. %

6
- 3.6x10°]J



3.6x10°W

3.6x10°7J
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Time: 0
A solid sphere of mass M and radius R is free to rotate about an axis passing through
its centre. A solid cylinder of mass o and radius R 1is free to rofate about ifs

standard axis of symmetry. Initially both the sphere and the cylinder are at rest. If
torques of equal magnitude are applied to the sphere and the cylinder, the ratio of the
angular speeds acquired by the sphere and the cylinder after a given time is

M ¢55503 SoBatho R (o o) 2,8 wdfivo o Sodo oo el wgo HBor™

(T Fomo Sodbrievtbased. % (-3 Sodatn R J°53'=go o wd 0
ArD0 TP YTg0 DT AT e Sodrievdased. Frdozed” fivo
208cf Ari0 VY0 HOG' GAD. D 80 63) &rG) v Aivo Sodah
820 YA AODR, 2y S 66" Fivo Bk Ardo Jod Sedoh Scow
N

Options :

2:5
1.% 77

h
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2. ¢ >
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A wire of length 0.17 m having linear density — ke m™ is bent in the form of a ring.
T

The moment of inertia of the ring about an axis passing through its centre and
perpendicular to its plane is

1
= ke 8Dot Frogs Ko 0.1 m TPy Ko wé S oo 8560l Somi.
T

$05630 Soo Aot e TR $erdd woroTT &od B50 NEAM S0560 WS
%o

Options:

0.50 7 x 107 kg m’

Bt 2
- 0.25 tx 10" kgm”

3 % 0.50x 107 kg m’
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The acceleration of a particle executing simple harmonic motion at a distance of
10 cm from the mean position is 0.4 ms™, If the amplitude of the particle is 30 cm,
the maximum acceleration of the particle is

RO o8 S oo iﬂojm:br‘bl 8 400 03135'6 mc,‘)?gﬁbs gﬂéo A0é 10 cm

Grdo écg @5&30 0.4 1118'2. 630 o?msb g08 DB 30 cm wond S0 ﬁﬁ%z
eﬁscieao
Options :

y -4
1% 0.6 ms

5
5 % 0.9 ms

o
1.2 ms™
3.4

1.5 ms
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A Dbody thrown vertically upwards with a velocity of 20 ms™ from the surface of a
planet reaches back the surface of the planet in a time of 2 s. The time period of a
. 20 ‘ .
stmple pendulum of length — m on this planet s
2
08 (o dwo 2 20ms” Sriod £ woworr pd DdEH ws B S6H i

20
ooy 250 Suod 0. & (frop — M T o w8 v E'wdo BdN
E

500



Options :

1.2345
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A 200 kg steel bar sits horizontally on two supports as shown in the figure. The force
on each support is

(g=9.8ms™)

200 kg G073 (10 28 &), S6R DK GPdD DEKNM Toth BEPdiwLp d82

QroBGar™ e:0ud. B YA VLG P DD (HAS o

(g=9.8ms™)
' 200 kg
O — Steelbar {ﬁé}fjé{é}

Options :

.« 960N

, » 1960N



.« 490N

, v 980N
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The part of the stress-strain curve where the Hook’s Law 1s valid 1s

205 AoDER 9RVVG0 VBRI OF errhan
!

B
Blress (.

[Ddaue)

Stram {D8,4)
Options :

AC

(1

OA

OB
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Two soap bubbles of radii 17 and 1, in vacuum coalesce isothermally to form a new
bubble. The radius of the new soap bubble is

030%e5 0l wd

o
Rt

J}g&’gm 1y, Tyew o Gochy ey cirien wap@ﬁ SRVEAE

6 a0y K TP ArOR. S dwoy ands ag), o
o 2 O 2 6

Options :
2 2
I, +1,
1.¢
-"} g
4 5
2. %
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The temperature of the surface of sun is 6000 K. The wavelength corresponding to
the maximum energy is nearly
(Wien's constant, b = 2.89x10”mK)

A 60080 ol 6000 K eawd, 165 3§ aardiw dokw dbof 3
0ATET
(D9 Jorodisn, b=2.89X 10°mK)

Options :

- 1.82 x]ﬂ'?m

6.82x107'm
532x107"m

L
4V 48210 'm
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During an adiabatic process of a monoatomic gas. the relation between absolute
; X -
temperature (T) and pressure (P) is P o¢ T". The value of X’ 1s

2

aﬁgs 23008 28 D¢ DOAPES TAL0Y) ), DG egﬁge:a (T) S080% 2¢io

P) $ tf) Dosaocio P T" wowd, a3ng), Jewsd
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Options :
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Time:0

A drilling machine of power 1 kW is used for 5 minutes to drill a hole in a 10 kg
metal block. If 40% of the work done by the machine s wasted as heat, the rise m
temperature of the metal block is nearly

(specific heat capacity of the material of the metal block =420] kg'l K

10 kg 073 $DA 8 6373 wcioyd’ dogo Sabe3 1 kW avmgéo o w8 &9
o) 5 AVsFR St G0 S0 Siod. o BB HIT40% 63
Brsng’ e 08, §'ir ey g, eliss’ drdy

(&rzp B3y o) vy DTG &mgso =420 J kg K1)

Options :

286
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A gas 1s compressed from a volume of 23 i’ to a volume of 17 m’ at a constant
pressure of 50 Nm™ If 50 J of heat is added to the gas. then the change in its internal
elergy is
28 aradn 23 m’ 20D0ATE0 Aod 17 m’ 2080 £, 50 Nm™ ?gcﬁ
20 3 200364590 28008, BT 507 &) BolR, & oY) Ao,
083 $36° I8y drddy
Options :

decreases by 25017]

2501] e:ag;mc&

increases by 3501

350 J HODHA00S
2.

decreases by 350 J

350 I Sh&00s



increases by 250 J

250 J a0 hdood
4, ®
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If the percentage mcrease in the pressure of a given mass of gas in a container at
constant temperature is 100%. then its volume

?gd egﬁgeﬁ 5¢ a8 FSS’ Godd Toin) a8 250 100% 2608, o
20H0857e0
Options :

decreases by 100%

100% thoedo0b

decreases by 50%

50% ShSo06H
2.

does not change

Febilolanb)

increases by 100%

100% =800
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If the speed of a wave doubles as it passes from shallow water into deeper water, its
wavelength will be

A8 &80 ot Fds & )RV w8 dboft Stfo 5oz WM T

9350

Options :

6ol B

unchanged

QI 3%

halved

20 e9aHeod

doubled
8803 e9PBV0E

quadrupled
TPOA L 900
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A tank 1s filled with benzene to a height of 120 mm. The apparent depth of a needle
Iying at a bottom of the tank measured by a microscope is found to be 80 mm. The
refractive index of benzene is

208 EP(05 %0 120 mm 6% Boed & ey, s arg) 68 er(oS
b &) Ard H83VY0 o dﬁéeﬁ'ﬁm 80 mm e Swbdecod.
00208 BHoid ) 53298 Koo
Options :

1.5

1.4
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h

il
h

Question Number : 103 Question Id : 5500532983 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In Young's double slit experiment. if the distance between the two slits is decreased
by 20% and the distance between the slits and the screen 1s increased by 20%, then
the percentage increase in the fringe width is

atbofs a0t DS pair o, Got) DS 6§ Erdoio 20% Bhod), WBseo

0Bty B Q| crdory 20% 200, DB dend’ DL To

Options :

1.‘?,5(}
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. , d ‘
Three charges +Q. q. +Q are placed respectively, at distances 0, ; and ‘d’ from the

origin, on the x-axis. If the net force experienced by +Q, placed at x = 0, 1s zero,
then value of °q’ 1

d
S0P T Q. ¢, TQ SR e Dotk Aod S 0, g 208050

‘A" drored’ x-080 D GoswEHd. x=0 alyle €00 +Q & 2 i DO
200 T) BONA ‘(DD

Options :
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A conducting sphere of radius R carrying a charge Q lies concentrically inside an
uncharged conducting shell of radius 2R. If they are jomed by a metal wire, then the
charge flowing to the shell and the amount of heat produced are respectively.

;fséﬂgo R, deiogerdto Q to a8 s ) J°55°go 2Rt dorHIS Tars
46,608 D¢ Sodorr &) B. TH a8 Tirg S SDOIYE, S8y

D970t DEETDF0 OO 20 ERT™F DD ST

Options :
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3 4ne.R
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"12ne.R



Question Number : 106 Question Id : 5500532986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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An uncharged parallel plate capacitor with dielectric constant K is connected to
similar air cored capacitor which 1s charged to potential V. If the common potential
is V, then the value of K is

B Sroso K o) a8 b‘qssv:‘)i 4R &) AT ddreds DUV ZrHnd &,
Drse M| ™ o vl 88 Vo TEAADS £ 853 DEBA DB’ dArodd
H05%0 3FH06 £ D3H. HB Gio)é %gme_ﬁ V o008 K Dend

Options :
Tv."
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1w ¥
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v
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Time:0

If . e, 7 and m represent the concentration. the charge, the relaxation time and the
mass of electron in a metal, then the resistance of a wire made of the metal of length
‘'[” and area of cross-section A is

w8 §'EPod 1, €, T 200050 M eV HERM ATV Fogd, IO,
QT FTRAW Sbaby G VR Ardothddd. s 8 ) T Bk
S\ dT0(0 A wod & 8 B s
Options :
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In a potentiometer experiment. the balancing length with a cell is 240 cm. On
shunting the cell with 2 Q) , the balancing length becomes 120 cm. The internal
resistance of the cell is

w8 magoa:nhmd; DEFH08” 28 LORBNRLD Dodwd Ty 240 cm. &
20030080 2Q & 1085 B3 PotwR e 120 cm 9onIB. & AW
aBg), wodd) Bcso

Options :

0.5Q

5 % 18

20

4Q
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To generate the high magnetic fields. the synchrotron uses

©8S 0D 08 Egrory ErJoBostmdS, NoSErS EHeIrAotdDE
Options :

solenoid only

. J'OTranE Ao



toroid only

e TronéE A

]

combination of solenoid and toroid
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If the magnetic field is along the positive y-axis and the electron is moving along the
positive x-axis, the direction of force on the electron is

WO 08 Eo 653 V- w50 B35 2B JUFTA ¢ x-vg0 Job
520080%) £OB, JVFR B, W0 &oth) B3 |
Options : |

along -v axis

— V950 Doc

along +y axis

+y g0 Dot



along +z axis

+7 2950 DOLEC

along -z axis

— Z 950 D02
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Time:0

A bar magnet of length 0.1 m and magnetic moment of 5 Am’ s placed in a uniform
magnetic field of intensity 0.4 T, with its axis making an angle of 60° with the field.
The torque on the magnet is

0.1 m ey, 5 Am’ O30 08 RS0 o BormobF 0mrdy 0.4 T e tfo
D468 wahiF) o 808" T @50, Ego8 60’ 26,63 Dore &odd & &0,

e
Options :

1.532 Nm

_ 1.414 Nm
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Changing magnetic fields can set up current loops in nearby metal bodies. They
dissipate electrical energy as heat. Such currents are called

Srtadody em‘.bﬂ“boé g, c.sgda%ﬁ &) 8T duHud’ NS P
oy FraodreohTray. e o8 J &g oo SaFow, &
DT
Options :

Eddy currents

» é)é FoToireul 36

Self-induced currents

?05030-335@ DD

Photo currents

5708 DS DT

Ionic currents

900D S e DED DD

Question Number : 113 Question Id : 5500532993 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
A resistor of 50 Q, an inductor and a capacitor are connected in series to an ac

source of peak voltage 20042 V. When the capacitor alone is removed from the
circuit, the current lags the voltage by 37 and when the inductor alone is removed

from the circuit, the current leads the voltage by 37. The power dissipated in the
LCR circuit is

I ST 20032 V o 28 255208 356° 50 O o a8 DESE8m, 28 HEEAw
208050 w8 b S0addD. dwaho od kb & Ardd Suieds,
QAN Do Sga g063 37° %I Bk D00 A0E HELANR
g Sofodd, xS viiro JG& o 37° dwododh &ocd. LR
Hoaod’ S avmgéo

Options :

400w
800 W
2.

L 200W

L« 10OW

Question Number : 114 Question Id : 5500532994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The efficiency of a bulb of 1000 W is 6%. The peak value of the magnetic field

produced by the electromagnetic radiation from the bulb at a distance of 1 m from
the bulb is

|

ht

] ;)
—=9x10° Nm*C™ |
\ 4me, ]

1000 W a5y adng), 658 6%. &y do0c Sed: :ngmaﬂbo@ 2300 SO
€\) E5] WODHF) 0SEY 306 eosd wby Mot | m Erdedy

{ 3 i

(1 % |
| =9x10°Nm'C™ |
\ 4me, |

/

Options :

; .. -8
L ,20x10°T
15x10°T
3
10x10°T
3. %

8
. x SRS

Question Number : 115 Question Id : 5500532995 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two photons each of energy 2 eV incident simultaneously on a photosensitive
material of work function 3 eV. The maximum kinetic energy of the emitted photo
electrons i

2846 26V $3 o Socty Jerdd HAI0ako 3 eV o a8 &' 2ang) i

DERG0R IS 08" HIVND. GLr0d T oz 18R 1dx 3.



Options :

w06V

Question Number : 116 Question Id : 5500532996 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An electron in the ground state of hydrogen atom absorbs 10.2 eV energy. The
orbital angular momentum of the electron increases by

&R DT drdrand’ ad) a8 doga 10.2eV 330 Fiwo Srod,
dogy 85§ Sl GagSred” e

Options :



Question Number : 117 Question Id : 5500532997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the speed of the light was half the present value, the energy released in a nuclear

reaction decreases by

08¢ DS DA dfo SV, Sods SEE” Mtocse waky 33Y Sy
Options :

. = 100%

5 o 75%

3 % 0%

2
LA

[
S~

Question Number : 118 Question Id : 5500532998 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given logic circuit, if A and B are the inputs, then P and Q are respectively

GO S Soaed, A, B ew ddzen eond P, Q en S

B

P

Options :

.« (ATB). (PA)
, « (AB).(P.B)
. « (A+B). (P+B)

, v (A+B).B

Question Number : 119 Question Id : 5500532999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

An oscillator 1s an amplifier with
w8 Eodo OIS drd ed) ddo
Options :

high gain

OBE By
Q

1. &



no feedback
DN =
2. % MRS

negative feedback

220EFTH] S DO D0

. S %820
positive feedback

GSreh) S HMOY R0
|, Bttt

Question Number : 120 Question Id : 5500533000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A message signal of frequency 20 kHz and peak voltage of 20 V is used to
modulate a carrier whose peak voltage is 100 V. The modulation index is

20 kHz a0, 36 S 20 V o 2088 20308 100 V 328 Sk tfo
Toirs ééorrﬂrf)l érmlgejéi 37D, mdj?geijb A0

Options :

1. % !

3 v 0.2

L x 01
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Question Number : 121 Question Id : 5500533001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The radius of H atom in its ground state 1s X pm. What is the ratio of radii in ground
and n =2 states of He™

m%@@ﬁ H Hdresd) J’sﬁﬂg:m xpm. He™ &' m?ga 280w n=2 f‘geﬁweﬁ&
TRITO A Jody?

Options :



4% 1:9

Question Number : 122 Question Id : 5500533002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

- : .o
The total number of electrons with magentic quantum number m, =0in Fe™ and
Cr is respectively

Fe'™ 20000 Cr 08 e 08 $oko Roa, ;=0 & o Awdo TS ©
R0 SR

Options :

1.% 14,1

Lad

, » 13,14

3w 11,11

Question Number : 123 Question Id : 5500533003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

How many of the following are neutral oxides?

308 o835 Herd sS\& e D) ?
o
CO, NO, Na»O. N>O, C1,07, Al,O3, As>0O3

Options :



Ly

Question Number : 124 Question Id : 5500533004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The metal having low melting point is

L) D BABHD Fdo e Siro
Options:

.« Li

Pb

Question Number : 125 Question Id : 5500533005 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Intramolecular hydrogen bonding is found in
£ 0S8 rEad eoco $OH alnd) & I&?

Options :

\ « HF

~ CH;OH
2 ®

0 — Nitrophenol

0-de5 dTeS
3. %

o-Cresol

0-S°e5

4, #

Question Number : 126 Question Id : 5500533006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In OF; number of bond pairs and lone pairs of electrons are respectively

OF, e9620:9)65° 200¢8 2363 208050 200838 2eh VTS © oy, SO

Options :

L x 2.6



, v 2.8

3% 2.9

2,10

Question Number : 127 Question Id : 5500533007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The isotopes of hydrogen are H, D and T. What 1s the approximate ratio of rate of
diffusion of Hp, Dy and T?

&2 oJ e Qu H, D 20800 T. Hy, D) ibaiw Ty © (0 Stve Ayd
VARG Jodd?

Options:

1% 0N W I ) B

BI67 20.25 0.5
4. ®

Question Number : 128 Question Id : 5500533008 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At T (K). a gaseous mixture containing Hy, He and O; exerted a pressure of 1 bar.

The weight percentage of H, and He 1s 20 and 16 respectively. What 1s the ratio of

partial pressures of 0, He and H,?

H,, He 08050 0 a0 o) 208 o080 Q032 9w 1 bar. Hy &dosw He ©

TETS0 S8R 20 L8050 16 wond 0,, He aodosw Hy arés DETO 3%‘?

20g)?

Options :

Question Number : 129 Question Id : 5500533009 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



48 g of methane was completely burnt in the presence of oxygen. The liberated gas
was passed into a solution containing 370 g of Ca(OH),. What is the weight (in g) of
CaCO; formed?

(Atomic weights:C=12:H=1:Ca=40:0=16)

yud Dinged 48 g B B QPO ©0d0med. DEEVOND TV,

370 g © Ca(OH), o @radmo &°A3 Donordd. i.)cﬁb&.é CaC0s zrdo (g 0)
Dogh?

(DGrew eroren:C=12:H=1:Ca=40:0=16)

Options :

500

1. %

, » 400

L 300

4« 200

Question Number : 130 Question Id : 5500533010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the standard Gibbs energy. enthalpy and entropy changes AG®, AH" and AS for
a teaction are -3444 K mol™, -6.44 KT mol™, 80 T K'mol" respectively, the
temperature of the reaction (in °C) is

ws SO( Darn iy 33, Joardy, o' drthyen, AGY. AH’, AS w0 S0P
-34.44 KT mol™, -6.44 kT mol™, 80 TK 'mol " evosd es &56] &' (°C 0F)

Options :



427

)
N

4, %

Question Number : 131 Question Id : 5500533011 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the mean bond dissociation energies of C-C and C-H are 80 and 90 kJ mol”
respectively, the standard enthalpy of atomization of n-butane(g) (in kJ mol™)is

C-C, C-H 2t @068 Dadrad $Hen e 80, 90 kI mol ™ esond
11-m5e35(a°) DAPE DSRS0 aot;s“@\ (kI mol” o)

Options :

. 980



Question Number : 132 Question Id : 5500533012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
At T(K). K of AgCl AgBr and Agl is 18x10°", 5x10™ and 8.3x10°"

respectively. A 1L solution contains 10~ moles each of NaCl, NaBr and Nal. This
solution was titrated with 107° M AgNO, solution, till all the CI", Br"and I are

precipitated as silver salts. The order of precipitation of these respectively are
T(K) ¢ AgCL AgBr SoBaw Agl o K, deoden ddoarr, 18x107", 5x107
S8k 83x107". w8 1L grdeod NaCl, NaBr sbosw Nal 2.8)4) 6 107 ard
R GT) Q. & AT 107 M AgNO, grédmsnd, ody 1, B &oboin T
W 8 (G VIRV BHED0 Dot HOL oBATVD B, 2D
wdEOBGD] $00 AT

Options:

AgCl, AgBr, Agl

1. ®

Agl AgBr, AgCl
2. %

Agl AgCl, AgBr
3. %

All the three salts are precipitated simultaneously

SITPE) OSETR) 2030 HED0 DodTEoN
4. %

Question Number : 133 Question Id : 5500533013 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At 300 K. the total pressure of the following system s 2 atm, at equilibrium.

Afg=2m)

The atoms of A occupy 20% volume at STP. The K, of the system is approximately

(Given: R=0.082 L atm mol K. STP volume of I mole of a gas=22.7L)

300K 6, S0 H30EDB (5% Hodo i 2 atm,
A,(2)=2A(g) STP &8 A H6arae0 20% WADOIFTT) 0T, S
awg) K o
(cady6: R=0.082 Latm mol" K™, STP 3¢ 1 3re§ aposoo dndiodisreao =22.7L)
Options :
,x 4x107
e
2. %

4%x1073
3. %

4x10°

4, %

Question Number : 134 Question Id : 5500533014 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Among the following molecular hydride is

o0& o7e3e5” eoed PGE



Options :

BEHZ

1. &

5 B>Hs

3 NaH

CrH

Question Number : 135 Question Id : 5500533015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Among the following, the correct statements are
L. Lithium forms solid hydrogen carbonate

II. LiC1 1s soluble i ethanol

I11. The formula of Lithium oxide is LiO

IV. Lithium hydroxide decomposes on heating

$08 o865, 28D SEEHGY
L d@aho 203 rEad 633 &0 6 0R00d
I1. LiCl @66 &° sdrheod
M. ddaho es3\& rdyer LiO
IV. Do) ddabo ard G dutdo Bokodood
Options :
I1. IV only

1L IV &g
1.9



L. IIT only

I 1T Sovehd

I1. IIT only

I1. 1T #0783
3. %

[, IV only
LIV e

Question Number : 136 Question Id : 5500533016 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following. which statement is not correct?

S08 TeeS", D Trgay PBEIE SPe?
Options :

Non-metals and metalloids exist only in the p-block of the periodic table

5580 DS’ B e SrBakw g en p-ors & drgdy otrow

1. %

Generally, non-metals have higher ionization enthalpies than mefals

- oo e L) & P58 eAE esah DL JOGF’%&D Y0800



The compounds formed by highly reactive non-metals with highly reactive metals
are generally ionic nature

A ém}g%mj o) 095 i) , 908 nﬁmﬁ%‘vé do S'iFod 95 i)dbd&éﬁ

SRV FrrEEaomT ewairds ﬁf}aﬂboéﬁ 5)0EPO.

The non-metal oxides are basic.

e9e5 3 55 E S FEAETH0 Hotod
4.

Question Number : 137 Question Id : 5500533017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following, the correct statements are
I. CCly s electron precise molecule
IT. SuF 4, PbF, are ionic in nature
I11. All tetra halides of group 14 elements are easily hydrolyzed
IV. PbO, PbO; are amphoteric in nature

308 TS HOD TiRfw
[ CCly o)y 80% Josed ffo et
IT. SnFy. PbFsen eaairs "n:asa,mo 3N
I1I. eﬁchl 14 3 tra Qareseo SEFFGE WOFPoTr 2030 BTN

IV. PbO, PbO, 0% &5‘&5&,}"550 gocd

Options :

L. III. IV only
- L IIL IV &Soegdad



IT, 11, TV only

1. 111, IV &oebad
2. ®

L IL. TV only

L IL TV &g
3. %

L. I, III only

L. II. TIT &orgdao

Question Number : 138 Question Id : 5500533018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of alkenes that exhibit cis/trans 1somerism with the molecular formula
C-_ngg I"%

CsHyp e a“dj(]}?.? 303 es?)zjfo o R/ ey &dﬁseﬁl 036,085 a8 o2y

Options :



Question Number : 139 Question Id : 5500533019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ratio of sp?’. sp2 & sp hybridized carbons present in CH3-CH = CH-CN
CHy-CH=CH-CN &' sp’, sp” 08050 sp %08656%0 (i) 52639 &

Options:

 Ed |
1. %

Question Number : 140 Question Id : 5500533020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following arrangement of magnetic moment is correct for

ferrimagnetic substance?

306 TS I ohiF) 08 rus ©NBS DB WADTF) 08 DTS VBEVA?

Options:

 TTTIITTY

1.



i U AT

2.

S TETITETY

3.

4_¢T;¢TTT\LT’?‘

Question Number : 141 Question Id : 5500533021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a freezing point experiment, aqueous acetic acid solution gave AT (observed) =
0.02 K. Calculated AT for same solution was found to be 0.018 K. What 18 the van't
Hoff factor of acetic acid?

28 PVNBID 3@% QUPAod, NS ey 2w THrS ATt (DErTd)S dend)
0.02K. &6 gorrs 6%605356 AT dewd 0.018 K. dtds wavo robrsd

(eagea Jodh?

Options :

2
1. %= 10



Question Number : 142 Question Id : 5500533022 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At T (K), 1 mol of benzene is mixed with 1 mol of toluene. The mole fraction of
benzene and toluene in its vapour state is respectively

(Y =160torr, P’ =60torr)

Benzene toluene

T(K) 56, 1 ar6 B8 & 1 ard 695 £ 960, Hodd dodosw &9 diog,

AreS FTreN w%%}néﬁﬁ Seodm (P

Benzene

=160torr. P’ =60torr)

toluene
Options:

0.5 & 0.5

1. %
04 &0.6
2. %
3 % 0.62&0.38

0.73 & 0.27
4. &

Question Number : 143 Question Id : 5500533023 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following half cell reactions and choose the correct options
() 2H,0() > 0,(g)+4H™ +4¢” E°=1.23V

(IDH (aq)+e” % H,(g) E =000V

(IIN) 2507 (aq) - S,0; (aq)+2¢” E°=1.96V

(a) In dilute H,SO, Solution. H™ ions are reduced at cathode.

(b) In concentrated H,SO, solution, water is oxidized at anode.
)

(c) In dilute H,SO, solution, water 1s oxidised at anode.

(d) In dilute H,SO, solution, SO;” ions are oxidized at anode.

S0 o 08 S8R 26300l 2D DTV Aoy ol
() 2H,0() > 0,(g)+4H" +4¢” E°=1.23V
(Ip H (aq)+e” —>;H (2) E =0.00V
(IIT) 250, (aq) —S,0; (aq)+2¢” E°=1.96V
(a) 20 1,80, gromed’, H woirdy s:6E 56 gaxrgtno Socorv.
(b) e H,S0, mradmods’, 0o esd& 5¢ efégédﬁ'ao Bt
(¢) dae HSO, gromed’, db 8S& 3¢ 9818660 Bocidv
(d) dzs0 H,80, gromed, SO, eoirioen S& d¢ 931860 S0tk
Options :
a and b only

a 0803w b Ao

a and ¢ only

a 0803 ¢ A
2. &



b and c only

b 0803 ¢ saregha

b and d only

b &o8atn d Arg
4. %

Question Number : 144 Question Id : 5500533024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the time required for 40% completion of a first order reaction is 50 minutes, what
is the time required for completion of 80% of the same reaction?
(log2=0.3010, log 5 = 0.6990, log 6= 0.7782)
w8 DED LArogd| 40% rosHerdS 50 A0 DS s 80% 7
58PS Jodh Do DS ?
(log2=0.3010. log 5= 0.6990, log 6= 0.7782)
Options:
157.8 min

1.+

5 147.8 min

78.8 min
W

73.8 mun
4. %



Question Number : 145 Question Id : 5500533025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Given below are two statements

Assertion (A): A catalyst, generally increases the rate of a reaction

Reason (R): It lowers the activation energy of a reaction by providing a new path

The correct answer 18

4oy Botod TD[RI RI(QTQ.
A3 0 (A): FErdmore B30 | ST Dockiood
5o (R): G800, 56(%H §& g Senridabiio oo & &8s 33 O
S0008
o
2BODH AT
Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 20805 (R) e0 ot 283 280k (A) L (R) HBADH e
1.4

Both (A) and (R) are correct and (R) 1s not the correct explanation of (A)

(A) 208030 (R) e Botw 2859, (A)  (R) 8% D6 S°6d
2. %

(A) 1s correct but (R) 1s not correct

o u ARGk 52 (R) 2898 5760

4. %



(A) 1s not correct but (R) 1s correct

(A) 9858 5060 529 (R) %538

Question Number : 146 Question Id : 5500533026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The catalyst, promoter and poison for Haber’s process are respectively
26 DESS’ e@;}dso, 0580, &\e_f#gds DADTTR HERT
Options :

Platinum. Zinc oxide, Arsenic oxide

FOV0, 205 3\&, 3805 es3\&

Nickel. Chromium trioxide. Carbon monoxide

D35, Eado & B54E, 52630 arE\é

Platinum. Molybdenum, Hydrogen sulphide
FEV0, 2rdDDo, IFERS DTE

Iron. Molybdenum, Carbon monoxide
DS, E;J?E}egéo, S‘:‘GE:}::U &PU‘J@D&,

Question Number : 147 Question Id : 5500533027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sphalerite is the ore of metal M; and malachite is the ore of metal, My. Atomic
numbers of M; and M, are respectively

T3 030 M) ) §'iro GE), G0, A3t w6 Mk &'iro
abog), ardoR) My, My & 567 doajen ST

Options :

. 30.82

, % 82,30

3 v 30,29

-2
A
ad
e

Question Number : 148 Question Id : 5500533028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

—2 X +Y + oxide of nitrogen (A)

Conc HNO;—

—?}Z +Y + oxide of nitrogen (B)
A and B in the above reactions. respectively are

o X+ Y + 28BS 695 \E&(A)
et HNO;———

—25Z+Y + 288D 63\& (B)

D WO[S” A, B e S0

Options :



” NO-._ N(:}‘TI

1. % -
NO, ., NO,
2' o = FA
. N,O. NO,
3.8 2 2

, « NO.N,0

Question Number : 149 Question Id : 5500533029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The decomposition products of [Fe04]2' are

[FeOs]” 800& D8\E Dinerd &=y en

Options :

1% FE304. 02

FeO. O>
2 %

3 1:8303. Og

4 % FeO. 1:8303



Question Number : 150 Question Id : 5500533030 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following ions has [Xe] 41" 68" as outer electronic configuration?

$06 waird vf’ B3 erir JogdS Do [Xe] 4f' 68" r @od?
Options :
Yb™

1. %

j UE
Eu-

2. %

Sm

Tm’"

Question Number : 151 Question Id : 5500533031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Buna — N is a polymer of

20§~ N 308 BJ/58 g, JdD6?
Options :

— —
il B "

CN



Y
3. %

———
4, % Cl

Question Number : 152 Question Id : 5500533032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Given below are two statements

Assertion (A): Hydrolysis of sucrose results in change in the optical rotation from
dextro (+) to laevo (-)

Reason (R) : Both the products from the hydrolysis are leavorotatory

The correct answer 1s

So6d Boch) (i[RI ADBETON.
O
Ao (A): WEH 20dFan S0 GI0 FS BSTPIGS (1) ol TArSYs
(-) £ Arthcdood.
s6mo (R): 200300 d0d bd\é Botty 69T &0 TEPSYS VD FT
280 DAFEED0
Options :
Both A and R are correct and R in the correct explanation of A

A H8ain R en Gothy HBonaD 08030 A £ R D5owd D8

1. %



Both A and R are correct but R is not the correct explanation of A

A Q600 R a0 Goth 2To0AD 5°Q A 20 R 28008 DdH6e 526

A 1s correct but R 1s incoirect

A 2B 3°A R 280AE 570
3.¢

A 1s mcorrect but R 1s correct
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Question Number : 153 Question Id : 5500533033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In amylopectin branching occurs by which of the glycosidic linkage?
SIS & D GERAS 200 (T TR 6y OTPOW?

Options :
C-2toC—-6

. C-2&00C—-6

C—-3C—-6

C-3doC-6
2.33

C-2%C =3

C—2c000C-3



C-—1toC-6

C-1&00)C—-6
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Question Number : 154 Question Id : 5500533034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Low levels of which of the following chemical substance causes depression?
308 O 6T 0 DEPY DO B8 IR Gocitlo B T{DVS Surbed?

Options :
Histamine

SEOUS

Ed'-ﬂ

Noradrenaline

o6 DEHDD

2. ¥

Prostaglandine

, Sigreds

Histidine

 3HES
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Question Number : 155 Question Id : 5500533035 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The optical rotation of a racemic mixture of 2-methyl 1-butanol 1s
2- B 1-20§05¢ FE Do G0, $rdes HA0eS
Options:

+11.5

Question Number : 156 Question Id : 5500533036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What is ‘X in the following reaction?

2 — Bromo — 2 — methyl butane —— 2 — methyl — 2 — butanol

208 zﬁdseﬁﬁ ‘X' 87?
2 — A — 2 — BS ariBS —E 5 2- WFS-2-eaSS
Options :

CH,Cl,
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(CHy)N—C—H
3. ® O
4V H->O

Question Number : 157 Question Id : 5500533037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are “X’ and Y’ in the following reactions?
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Acetal ¢ > H,CCOCH, ~ Y, Oxime
(eeTe5) (théo )

Options :
X =dry HCl : Y = NH>NH;

X = Eﬂ?&'g HC1:Y = NH;NH;

X =NaOH : Y = PhNH;

X =dry HCl : Y = NH,OH
X = Eﬂc?:'“g HCI. Y = NH,OH



X =dil HC1 : Y = NH,OH

X = 98 HCL : Y = NH,OH
4. %

Question Number : 158 Question Id : 5500533038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The correct order of reactivity of the following towards nucleophilic addition
reactions is
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CH,COCH,, CH,CH,CHO, CICH,CHO
I i i

Options :

e HMI<I<I
M <II<I

[< I <11

4 [<II<III

Question Number : 159 Question Id : 5500533039 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The suitable reagent to carry out the following reaction is

308 (D, DB DO TEEBA0?

COOH

Options :

.« RCOsH
PCC

. » KMnOJ/KOH. H;0

dil. H>SO4

L 293 H>S04

Question Number : 160 Question Id : 5500533040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Hydrolysis products of isobutyl isonitrile are
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Options :
(CH,), CHCH,NH, + HCOOH
4 o )

1

CH,CH,CH(CH, )NH, + HCOOH
2. ®

(CH, ), CHNH, + CH,COOH
3. % B ) )

(CH, ), CHCOOH + CH,NH,
4. % T



